
Backpropagation in Neural Networks CSCE 633

Practice Problem
Perform one iteration of forward propagation and backpropagation for the following neural
network, assuming learning rate α = 0.5 and a single training sample X = {(i1, i2), (y1, y2)},
where i1 = 0.05, i2 = 0.1, y1 = 0.01, and y2 = 0.99. We also assume a sigmoid activation
function g(x) = 1

1+e−x for the hidden nodes, where g′(x) = g(x)[1− g(x)].
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Backpropagation Outline
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• Compute the desired partial derivatives as: ϑJ(W,b)
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Backpropagation
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